Mok oA noe B

6JEI4E|~6JEJ1oaitmLFaﬁlir*“&n(D{UiLFaﬁJrﬁ' IH&& %1’%7‘.&)! jctjm$03 ’Dli cJ:<

ﬂﬁhfﬁ’\é-_tf?" ﬂilﬁd)

M\"&E(EU Eu’&%ﬂfﬁ'é EMTEET, Flo. AL I LNE BT

EIEEE IR S

18 £8EAR

*E—TAL—F4X

é‘é:%é‘ctué‘%ﬁ%t%‘%‘ut;ﬁ\r%i?‘o_wﬁ_}iﬂﬁaﬁl BRAT, 6H4aH~sHOR BB MMEEE |wEk
EH. ﬂﬁﬁﬁﬂz@ﬁ;éﬁﬁ(lﬁbéﬂq&m’ﬂ)]t):FLjUfi nzyawaam mw%faz<at§%‘<§?}i€ 2T RISDYSE
A5k, F—RBE) EBRY ANELT, S<Hh>TBRZCET, BRALHOERA B FT, T N—IEE
EHEDLERS Do YBEERLATTAL, "
s BB oLy nE S EHE AL T p f] 3
A’ -
%6 ADEHFEHLREE IARILFX— 648kcal (HEEFREMR S E650kcal) 69 1kcal
480 AER 58 XIEH 68 JKIEH 7B KIEH 88 %£MEH
* 1A (RETFAI—PU—R | RTEIODEBIEE  |RTiRAEER *ZI2A
*BRHOLLHEE | *OLEYSE * Y FLREOEY E%F’;é SR b
*éoigw_b%p% K A— M?é *?—X_)U{ *IEJEI’EF#@U%%E%&)
*FSNABD *HITALEY— AL FERALLY HEOSYELT D
u%uéa—/j‘;wfuz *%D’\’f‘\"]“\'d * 35
*FELH @ gz |wamzit
67 2kcal 688kcal 635kcal 632kcal 633kcal
118 AR 128 XH#EH 13H JKIEH 14H XKHIEH 150 £#EH
* A *hFo— e 2o |rdoLliE5e4 <HFBLHA=2—> |wziza EER)
*BEOEF RS <—HY> *BIFELER *E—TEST FANE
*BEOR—TE K B HiEEE O =L 1 A FOC ARy *IESNAZDRELDSD
*Iﬁzo)ﬂ]z% KAUHSH FAREAY—HY— #*R—F *EDZDTIUR
K ATt FeA—UR—F KERGF A —% K hER—T
FEHALTIL—Y N
625kcal 653kecal 669kcal = 652kcal 624kcal
18H AMEHR 198 NFEH 208 KR 21H KIEH 22H £MEH
* 1A *Z12A (BER) <IN—=7&IN—=7> |%TiA *Fo— a4k
%5 F*F T vAO—R # 1A *ELDY RiFEDHE  |wzvleszn
*EBFDZEDE F—T— RS H swnvn—4 nvu—z|  E3nABYr—  |xFuroEofizh
KNBEOTIF—Z Az |H B ER—T sROENS KOAIFADBBIE  [HsE5Ey—
e *BETH FE—T T — K H2E
Ya—/)LRO— KA FvTIL
635kcal 636kcal 657kcal 660kcal 625kcal
250 AIEA 268 XIEA 278 KIEA 28HAKIER 29H%EA
*Zi2A EER) KR EH # 1A <#Rx=a—> |[xcizA
*EBREBEOIIE |wnTnBiiEL *ﬂ%'ﬁ@vv— D2URZIE *RDBYHTEE
AEDIYTF— KA ER—T KissLy—2 |@BXziE B ALERR ORI
HIEL BT *BYAT £~ K Sr—RU AT *EHSE *FELT
) A sEEpSYOERT [wiEsnaBe ARRARY—/ AT
:_“r *H%;E‘Ié' %‘bb@%ﬂi% 2
:CAVavS
675kcal 635kcal 656kcal (1634kcal@664kcal 628kcal




